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Pedestal: RDO1 Modulel TBO

5

2555 3835

1275

.5

o o o o o o 9o g
8 8 & 8 & 8 & g
S B & B & B & ®©
T & ® & & 4 4

oav

11515 12795 14075 15355

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

Lo by bl bl
s g g 8 8 g g g

S 8 8 3 8 8 8 &

g &8 8 & R & 8

channel Id

channel Id

Pedestal: RDO1 Module4 TBO

Pedestal: RDO1 Module3 TBO

14075 1535.5

11515 12795

10235

T
1
895.5

767.5

T
L
639.5

5115

383.5

255.5

14075 1535.5

11515 1279.5

T T
] 1
0255

1
895.5

T T T
M
1 i
5395 7675

[
............................ i
=
o
o
. J o5
2
&
12
]
]
&
12
N
~
/ &
[ _______M
2 g 9 g 9 g g9 g o
8 8 & 8 &8 & &8 g
S ®» & B &8 B & ®w
T 8 ® & & a9 4
oav

channel Id

channel Id

Pedestal: RDO1 Module6 TBO

Pedestal: RDO1 Module5 TBO
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Pedestal: RDO2 Module8 TBO

Pedestal: RDO2 Module7 TBO
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Pedestal: RDO2 Module10 TBO

Pedestal: RDO2 Module9 TBO
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Pedestal: RDO2 Module12 TBO

Pedestal: RDO2 Module11 TBO
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Pedestal: RDO3 Module2 TBO

Pedestal: RDO3 Modulel TBO
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Pedestal: RDO4 Module8 TBO

Pedestal: RDO4 Module7 TBO
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Pedestal: RDO4 Module10 TBO

Pedestal: RDO4 Module9 TBO
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Pedestal: RDO4 Module12 TBO

Pedestal: RDO4 Module11 TBO
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Pedestal: RDO5 Module2 TBO

Pedestal: RDO5 Modulel TBO
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Pedestal: RDO5 Module4 TBO

Pedestal: RDO5 Module3 TBO
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Pedestal: RDO5 Module6 TBO

Pedestal: RDO5 Module5 TBO
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Pedestal: RDO6 Module8 TBO

Pedestal: RDO6 Module7 TBO
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Pedestal: RDO6 Module10 TBO

Pedestal: RDO6 Module9 TBO
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Pedestal: RDO1 Module2 TB1

Pedestal: RDO1 Modulel TB1
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Pedestal: RDO1 Module3 TB1

T
1
895.5

L
639.5

10235 11515 1279.5 14075 15355

767.5

5115

2555 3835

1275

.

M
1 i
5305 7675

1
895.5

0
"
&3
(o
=
2
N
o
<
<

11515 1279.5

1023.5

2555 3835 5115

1275

400

350

300

S
B
&

200!

150

______________________________v:__:_
2 g 9 g g9 g 9

=)
1]
S
=

o
£

channel Id

o
]
e
£
s

£
S

Pedestal: RDO1 Module6 TB1

Pedestal: RDO1 Module5 TB1

0
0
6
o
<
2
e e e e e A=
=}
<
~
=
- - - - - - &
4
S
[~
o
e e e e e A<
o
&1
=
o
&
[~
=
=
L2
o
£
&
o
N
[
2
2
£
&
@
o
<
<
o
=
o3
3
3
o
o
o
[~
2
~
S
[~
oav
0
vl
6
o
<
o
- - . . . . ~
=}
<
<
[«
e e e e e o
4
[~
[~
o
e e e e e A=
o
&1
=

T T T
L 1 1
7615 8955 10235

B
639.5

T T T
1 ] i
55 3835 515

o

. =
o~
[~

| P AT TN PO PP Y. Y e

2 g9 @ g9 g g9 g9 9 o

8 8 8 © 8 © &8 ¢

S ®» 8 ®» 8 BB & w©v

§ ® ® &« & o 9=

channel Id

channel Id



Pedestal: RDO2 Module8 TB1

Pedestal: RDO2 Module7 TB1
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Pedestal: RDO2 Module10 TB1

Pedestal: RDO2 Module9 TB1
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Pedestal: RDO2 Module12 TB1

Pedestal: RDO2 Module11 TB1
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Pedestal: RDO3 Module2 TB1

Pedestal: RDO3 Modulel TB1
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Pedestal: RDO4 Module8 TB1

Pedestal: RDO4 Module7 TB1
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Pedestal: RDO4 Module9 TB1
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Pedestal: RDO5 Module2 TB1

Pedestal: RDO5 Modulel TB1
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Pedestal: RDO5 Module4 TB1

Pedestal: RDO5 Module3 TB1
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Pedestal: RDO5 Module6 TB1

Pedestal: RDO5 Module5 TB1
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Pedestal: RDO6 Module8 TB1

Pedestal: RDO6 Module7 TB1
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Pedestal: RDO1 Module2 TB2

Pedestal: RDO1 Modulel TB2

5

2555 3835

1275

.5

o o o o o o 9o g
8 8 & 8 & 8 & g
S B & B & B & ®©
T & ® & & 4 4

oav

11515 12795 14075 15355

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

[ mmemn
2 g 9 g9 9 g
8 8 & &8 & 98
S B © B S i1
T ® ® & & 4

channel Id

channel Id

Pedestal: RDO1 Module4 TB2

Pedestal: RDO1 Module3 TB2
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Pedestal: RDO1 Module6 TB2

Pedestal: RDO1 Module5 TB2
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Pedestal: RDO2 Module8 TB2

Pedestal: RDO2 Module7 TB2
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Pedestal: RDO2 Module10 TB2

Pedestal: RDO2 Module9 TB2
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Pedestal: RDO2 Module12 TB2

Pedestal: RDO2 Module11 TB2
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Pedestal: RDO3 Module2 TB2

Pedestal: RDO3 Modulel TB2
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Pedestal: RDO4 Module8 TB2

Pedestal: RDO4 Module7 TB2
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Pedestal: RDO4 Module10 TB2

Pedestal: RDO4 Module9 TB2
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Pedestal: RDO4 Module12 TB2

Pedestal: RDO4 Module11 TB2
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Pedestal: RDO5 Module2 TB2

Pedestal: RDO5 Modulel TB2
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Pedestal: RDO5 Module4 TB2

Pedestal: RDO5 Module3 TB2
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Pedestal: RDO5 Module6 TB2

Pedestal: RDO5 Module5 TB2
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Pedestal: RDO6 Module8 TB2

Pedestal: RDO6 Module7 TB2
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